1024 % FUBRE 2 A [ B S RREREF ~HFF ~ 5o - 5k
B P N L L TS
£ u pELE
o F T RBEIARKE
il T i B R . -
YRR 2P 5L

BLR D OF R T IPEE
D7 )3 (FE PRSI FRRBIEA B AL 1 o A i’r*év%—" » RS 2EA o

ﬁi]1$am§p—IWOQM1”k\ FddkE v=112x10"m’/s ~ £ 4 4cig B g=9.81 m/s’>
Hapghp 7R S

- R FAeRlr B2 E S 0852y - TR F cAmy - &R
BE A RAHEETZRBALEAS A PG R? 2 e a® P E4 0T BT F2 A0 HE
Wi w2 (B EVREREI =b-d*12 b 53T ai®) o (204)

0.689m
0.689m
410° ‘O.3m
) 1.2m ]
» AeB]Tr 0 R Ve =450m/s i 2 £ d=5.00cm Flg ¢ e winor - R f;f,v}\fg o
7] %‘ﬁﬁﬁﬂfﬂ%ﬁ,ﬁ e/d = 4.00x107 ¢ IEA‘—WJ{,&Q#E« 3 odivdpa o Faivpa ik

2100 F & L=250m> &3 = A&k r§)§H=25.0m’ P#’tl——d‘l\300
P = g

B4 oo BETI T TN o{ghi 251}\6 e LHR o Re %
Re\/7

TR ELEF kB RN SR 7 (204)

(™

[

|I||Q

H
h
v d
— x f P i
t \_)_‘
I L g
G+ o)



102 & P BRE % ﬁm

i

ﬁ%iiﬁ%%
CRF 4104 é‘%%ﬂ THERABALR A
* IR I S g
] FURB AR
e PRt ook B

~ BRI AR
BR R PORIEE 0 R i TG

F# & (1.00 atm) %

~ HEF S
+5J 9 Fi}“vé‘%\

i o = >— 3
e 100640
k. (%5 )

47 0 R 380 km/hr s B B & At

= 380 km/hr; A& B 2 RAlat 22— o lF;»‘a}: HoA R o o

%%2?'WE&*@“HWF’*ﬂ@wﬁﬂﬁmh?ﬂtw%ﬁ«i& B2 F R
o4 52 ERCAI BB S

P ‘75"] L/ﬁ?
p=123kg/m ’Z}‘;;?

X1

& E‘JP{;‘&

%‘%&i‘

o

~
]#r«h

I

-

G- BkREL-FUREL6

> ) A
P ' E.g/n _'Ei

\/

5 m/s o
]l\l-bllf(,:&hl-rﬁ -} Z_ g*g.w_—._/,, )ﬁ‘éﬁf—/}.fﬁ? (20/’7\)

100 N

y 2l F

Bf ¥

J J‘/}#
FHHLE v = 14.6%10° m%°£wﬂg*%$ib—ZM%’Re
£ 0 T2 M LD /6 o A KT

P}%r—'-ﬁ

BRAl&sz1e4 S 2 (204 )

D=100x10°"m> % § 2 % &

AR AP ? (204)

JPEZTER o ded (=) Ao o TR YA 5 5 mm/hr o
2 ()l 2 | EzE =R (1 ecm KiF) » 41

% (- ) "o friz
R (hr) 1 2 3 4 5 6
% 55 & (mmhr) | 25 35 45 60 65 20
2 (z) 2@z HE =R (1lem KiE)
R (hr) 1|2 3[4 |5|6]7]|81]|9]10
g (m/s) 2 | 437961 4530|157 | 5|0




